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Unit 24, Part 2: Transformation and Response Drills

1. Combine the two shorter sentences into one longer one, adding Yéuyu “Due to” or “Because” at the beginning.

Zhéijitian tiangi bianhua tai dale. Hén

dud rén dou zhaoliangle.

“These last few days, the change in the weather
has been too great. Many people have caught cold.”

Zuijin changchang léngdao lingdu yixia.
Hén duo xuésheng dou shéngbing le.

“Recently the temperature often drops below zero.
Lots of students have gotten sick.”

Las Vegas dubéyeé hén fada. Méinian
you hén duo rén qu Las Vegas wanr.

“Las Vegas’ gambling industry is very developed.
Each year lots of people go there to have fun.”

Ziran huanjing béi pohuai. Héng

xingxing daole mianlin juézhongde dibu.

“The natural environment was destroyed. Orang-
utans have reached the point of facing extinction.”

Xinjiap6 you sizhéng guanfang yuyan.
Dabufende rén kéyi shiyong liangzhdng
yishangde ytyan.

“Singapore has four official languages. The majority
of people are proficient in two or more languages.”

Pltonghua hé Guéyi jibénshang shi da-
téong-xiao-yi. W6 qu Taiwan luyoéude shi-
hou, néng tingdong tamen shuode hua.
“Mandarin in Mainland China and Taiwan are
basically very similar. When | traveled to Taiwan,
| was able to understand what they said.”

Yoéuyu zhéijitian tianqi bianhua tai dale,
hén duo rén dou zhaoliangle.
“Because these last few days the change in the

weather has been too great, many people have
caught cold.”

Yoéuyu zuijin changchang léngdao lingdu yixia,
hén duo xuésheng dou shéngbing le.

“Due to the temperature recently often dropping
below zero, lots of students have gotten sick.”

Yoéuyu Las Vegas dubdéye hén fada,
méinian you hén dud rén qu Las Vegas wanr.

“Because the gambling industry in Las Vegas is very
developed, each year lots of people go there to
have fun.”

Yoéuyu ziran huanjing béi pohuai, hong
xingxing daole mianlin juézhongde dibu.
“Due to the natural environment having been de-

stroyed, orangutans have reached the point of fac-
ing extinction.”

Yoéuyu Xinjiapo you sizhong guanfang
yuyan, dabufende rén kéyi shiyong liangzhong
yishangde ytyan.

“Due to Singapore’s having four official languages,
the majority of people are proficient in two or more
languages.”

Yéuyu Putonghua hé Gudyii jibénshang

shi da-tong-xiao-yi, wo qu Taiwan luyéude
shihou, néng tingdong tamen shudde hua.
“As Mandarin in Mainland China and Taiwan are
basically very similar, when | traveled to Taiwan,
| was able to understand what they said.”

2. Transform the sentences you hear into sentences that contain the pattern daole...dibu “reach a point where.”

Wode tou téngde xiang tu.

“My head hurts so much | feel like throwing up.”

Zhéijian shi bu néng siliao.

“This matter can't be settled privately.”

Nide bing déi qu yiyuan kan.

“You must go to a hospital to see a doctor for
your illness.”

Hoéng xingxing mianlin juézhong.

“Orangutans are facing extinction.”

Wode tou téngde daole xiang tude dibu.

“My head hurts so much it's reached a point where |
feel like throwing up.”

Zhéijian shi daole bu néng silidode dibu.

“This matter has reached a point where it can't be
settled privately.”

Nide bing daole déi qu yiyuan kande dibu.

“Your illness has reached a point where you must go
to a hospital to see a doctor.”

Hong xingxing daole mianlin juézhongde dibu.

“Orangutans have reached the point of facing ex-
tinction.”
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Wenti wanquan bu néng jiéjué.

“The problem is completely unsolvable.”

Neéige wenti déi zhao jiaotongjing.

“For that problem you have to call a traffic
policeman.”

Wenti daole wanquan bu néng jiéjuéde dibu.
“The problem has reached a point where it's com-
pletely unsolvable.”

Neige wenti daole déi zhao jiaotongjingde dibu.

“That problem has reached a point where you have
to call a traffic policeman.”



